Student Case Study:
Universal Credit vs Child Tax Credit & Housing Benefit


Lyra is a full-time student, over 25 years of age. She is married and has one child, a daughter aged 9. 
Her husband works 35 hours per week for £900 per month. Their rent is £90 per week.


LYRA’S CURRENT CHILD TAX CREDITS, WORKING TAX CREDITS & HOUSING BENEFIT CALCULATION:

Child Tax Credit & Working Tax Credit = 


£121 paid per week
Housing Benefit: 

Income from Student Finance (Loan) =


£7737 per year (after disregards are deducted)
Divided by 42 weeks (Sept to June) =


£184.21 per week
Minus Disregard (of £10 per week) =


£174.21 per week  = total income from Loan

Total Income for Housing Benefit purposes is:
Wages £207.69 p/wk, minus disregards (£10 + £17.10) =
£180.59
Tax Credits =





£121.00
Student Loan =





£174.21
Total Income for HB = 




£475.80
Minus Applicable Amount of £199.20 = 


£276.60 income left, to reduce benefit

Housing Benefit taper of 65% is applied = 


no Housing Benefit would be paid


UNIVERSAL CREDIT CALCULATION:

Maximum Universal Credit (10 months / ‘Assessment Periods’: Sept to June) = 

Standard Allowance (couple) = 



£498.89 +
Child Element =





£277.08 +
Housing Costs =





£390.00
Total =






£1165.97 is the maximum Lyra could receive

Income from Student Finance (Loan) =


£8430 per year
Divided by 10 Assessment Periods (Sept to June) =

£843.00
Minus £110 Student Loan Disregard =


£733.00 total income from Student Loan 

Income from Wages =




£900 per month
Minus Work Allowance of £192 =



£708 per month
Income taper of 65% =  




£460.20 total income from Wages

Amount of Universal Credit payable is Maximum Universal Credit minus Total Income.
Therefore, £1165.97 – (£733.00 + £460.20) = 

£ NIL Universal Credit per month

Lyra and her husband would not receive any Universal Credit. They would have to pay their full rent.


COMPARISON
Under both calculations, Lyra and her husband have to pay full rent – but under the existing system they still receive their £121 Tax Credits per week. 
Under Universal Credit, Lyra receives nothing at all. 
She is worse off under Universal Credit by £121 per week – which is £524.33 per calendar month.

